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SECTION—1

Language-1—Bengali
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SECTION-II

Mark correctly the part of the sentences which has 38

error. llmmmmancorm!mrt‘n‘(m:mr):
31. Dosotlesvy yoursestbefore finishing the task.
(A) (B) ©
2 madgofher pew book
\ (B) ©
No error-
(D)
33. Thedecpdeprension of the Bay of Bengal intensified
(A) &1
loto 8 cycloee.  TNoerror.
© (D)

mttnfmﬂymn'nymoﬂhm"m:
3. brg

(A) request (B) order
&7 boast (D) question
35
\me (B) fight
(C) silemt (D) sad
35 |mminent .
(A) immoral (B) comical
&~ impending (D) cymic
mnmmnmy-nrmm-mm
37. sggravate
(A) sppropriate (B) sppreciate
Wm (D) admire
38. oserous
(A) wanted \Bfwu
(C) burdensome (D) many
39, obstimate
(M plisble (B) adsment

(C) passionate (D) ominous

Language-II—English

Read the following passage to asswer Q. Nos. 4010 &3 :
Hmmbc'nphvepwvedomawrymperiodorﬁm
that they are pugnacious in nature. They find in anything
mdcvaythin;.&ommeudadtmwion..mbkm
ofmerymmdymmemsmdmbodsmwam
the modalities of war, bloodshed and violence. Obviously,
usclmcepropnscdwithﬁm.htmm beings were quick
mxﬂlwmescimccformcpmposcofw.
mp'amtmyofmkindimotm.hnmhis
fmmmgmbmmacmmﬁv:m.im
to undisturbed peace, but when science is perverted to
dacuaivecnds.itladSlOmdMgw.Mmumxm
wmkempomwmkeminawinglymmhlc.
Otrmtiuprobkmtbmfmhnouombxime.bumop
w.nuisajobhwhichewrybodymmtpanklpm.
Mmmmwn late and our work has

scarcely begun.
the grestest threat to homan

40. ‘The author fecls that
civilization is
w (B) science
war (D) pollution

41. Coastructive use of science wosld Jesd maskind
towards

(A) misery hsppiness
(C) pein (D) doubt
.42, The main problem of man is to
(A) control science
(B) control scientists
Muwwmmam
put an end lo war
QO ‘l'hmpnr.lmrdbgbmutm-candnc
participation of
(A) everybody except the scientists
\‘(;)/imtisaoaly
everybody

(D) everybody except the warmongers

Mark correctly the plersl forms of the followiag words :
44. coat-of-mall

(A) coat-of-mails ) coats-of-mail

(C) cost's-of-mail (D) coat-of-mail's
48. oash

(A) oasiss et oases

(C) oasiscs (D) oassics

(Contd.)
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SECTION—II
Ungugc-ll—Englbh

Mark correctly the sppropriate prepositions that fit i
e e botel s 0] the statio
6. scentl n.

8y to

(C) beside (D) wpon

Read the following pasnsage o answer Q.Nos. $71060:

As far as theorists opine, Engish a3 Second Language
(ESL) consists of four fundamental skill arcas : listening,
speaking, reading and writing. Out of these four skilly,
listening and reading are termed a3 Receptive skills, while
spulh;mdwrﬂinzm called Productive skills.

The ides of evaluation grossly involves threc zones of
Jearning : I m.mlmmmuiw
Order Thinking‘Skm (HOTS) Zone. In case of the two
Productive skil ahmnmxmmmmm
mmreemsoflmhg.bcwmmeprodwmm
leamer produces ot writing is, in a sense,
tangible, visible, and hence, measursble.

The problem of the teacher lay in the evaluation of the
WMIhmeo!mMm

but will also be clearly and overtly reflected in the
these behaviour. This problem

., demonstration :
MMESLm:hdbmismmdivamm

@ (), (@) (iv). (W) -

() (L (v, (i, (i)
) () (@) (i (iv)

Mark correctly (be change
words

umamm

0. adbet
(A) abbotess ‘ot sbbess

(C) abbotress
51. prosecstor
(A) prosccutores
\[E)™ prosecutrix

(D) sbboess

(B) prosecutes
(D) prosecutin

Mark the .
Py WMMMWMW.

(C) repititive

(B) repeatitive
(D) repietitive

53 (A) seperate
8 B e

L L ltidate
consolidate

58 Mﬂcﬂmﬂ

(C) vigelance

(B) consollidieate
(D) consoledate

(B) vigilence
(D) vigillence

20-FAU

Mlylhmhuamuhwmmskmshvolwdh
listening and reading which the teacher is interested in
mww.mlfmmw. 3
sﬂllwhmmikhdiﬁmhwmwmmh
has measuring it.

5. Nuktotmﬂhomhﬁhnmm
in the passage 'te)/

(A) six (B) four two (D)nine

s3. The ESL teacher finds difficulty in evaluatisg the
(A Productive skills (B) JHOTS Zone
(&) Application Zone (Y Receptive skill

89, Theskills thatare difficult for the learner to
overtly reflect in benybnr are

60. Amdbgwtummmulpotm

an item to measure Receptive skills Is
(A) mmmmxyumhuwo‘

ﬁndi!ﬁcuuyofbawhguhdaanmw
bcenub!etomﬂhedesk!dskm

© the unwillingness of students

(D) pone of the above

(Contd)
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SECTION—-1I1
Child Development & Pedagogy

English Version

. u.m.f.ma.mlunmmt'ﬂlkyur
" strategy for growp division * ‘
(A) mmucmmmmm
1o their roll-oumbers
®) pimmechuin_mgnﬂ'mmmon&e
asis of their regularity in class
\W{ymgdiﬂmmwuhhmmofnhed
shilitics
(D) Forming different
sdvanced learncrs
jearners

Good tesching implies - .
" (A) ponmiouofhi;haacathnicquhﬁcdm

olding rescarch work
\‘(:))/:nixgpodwonﬁswbjeamdabﬂ'ty
todehverit
(D) Stroag personality

69. Heightened emotionality during Iste childbood may
" come from:
(A) Environmental causes

(B) Physical causes
Gy~ Both (A) and (B)
(D) Noane of these

groups exclusively with
and exclusively with slow

1. According to which psychologist, between the ages
of ﬁvei:fd twelve years, children’s rigid and
iaflezible notions of right and wrosg ‘e«mc

modified ?
(A) Dalkon (B) Piaget

(C) Maslow YOY” Kohlberg

7. Good T.L.M. should be of :
(A) High cost and interesting
(B) _High cost and relevant

27" Low cost and relevant
(D) None of the above

73.  Which eze is the first agency of education ?
(A) The primary school where they leam how to read

\a{ndm
o :_’;ﬂe.benkaofndety ;
authority which o
ot Sxtharky controls the process

(D) The play way method of education

22-FAU

Bengali Version

67. Rt ymoéy PreliRBR cfRwwe w1 Retwon wn
s ey v (oS W et stw 0
(A) m&"ﬁﬂﬂ». afiew rom RN qew v

o

L2 {4

(B) e Frerlioe Frufirs Swfifdn TS oee
_ e w feso s

ey~ o wraneta Frwiiien Brox oqee oqes o1 frare
[

(D) cownm wevior—n Pl Foy awn cowmm
Qaforn fralor Fx qee oqve w 7
L o<

68. wOT FreTR WIT AN —

(A) SsSren uffed zom _

(B) TRTTPTE v

‘(e;/ﬁ-ﬁmm-nmmmﬂm

(D) T viota =l genm

69. %Y TTETM WRRH FHIY t¥™M WP
(A) *frews onTt
(B) =Paydy ¥t |

ey’ A et B 1w
D) CoRtR e
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(A) oA fForamw
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76. Wb

p— '
Child Development & Pedagog,

English Version

of all, revolted against the pure
system of traditional odu‘c'atlo: ;erbal

(B) Froebel
(D) Plato

wWhe first
sud formal
(A) Rousseau
(C) Herbart

A child can be called a creative, Il he/she has the

sbility of
(A) Fluency (B) Flexibility
(D) All of the above

(C) Originality

lch of the fotlowinf concepts Is not sssoclated

with Pisget's theory 0 cognitive development ?
B) A

(A) Assimilation
(D) Schema

(©) Association
of educating children with

The modern 8 proach
3l needs is to accommodate them

speclal educs

ia one of the following—
(A) Special schools (B) Integrated schools
(C) Inclusive schools (D) None of the above

Which of the following elements is least important

In the learning ?
(B) Teacher

(A) Syllabus '
(©) Environment (D) Cooperation

What will you do 83 & tescher, if » student does ot

attend your class 7

(A) Blm"h:tmdcn!fahhcbm .

(B) Keep quite considering the present attitude of
that studen

(C) Thiok of using some interesting methods of
teaching

(D) memenuwwduytoremon(bm

A tescher ls efficient fo evaluation of his/her

students, if b

e/ihe bs:
(A) Stnct B) Lenient
(C) Objective (D) Prompt
Which of the following ls not any characteristic of

drive?
(A) llhtbemmwlﬂchmovﬂthcbody
| directed behaviour of the

(B) It is specific go3
oo fon in h nature

(C) It gencrates aggress uman

(D) It is internal tissue condition which releases
energy and finally leads to activity

What we forget and what we remember depend 00

our motives ? This Is called:

(A) Retroactive Inhibition

(B) Emotional Amnetia

(C) Neurogenic Amnetia

(D) Proactive Inhibition

L FAll

Bengali Version

(B) woveem
€ v o o=
78, Mm
(A) m""'“’(;’;"“'ﬂmm
(©) Rfrwn Wmm

76. Fome vrnehn wo coal® Fioen N

WTYH N YF AN ¢
A) “ﬁg'”” (B) wrwITeICYH
wmﬁm D) fem

fiery Prwnpre siReprem Froces Frem
Mmmvm"ﬁnma::tm

z\u)“l?:ﬁwm e
(B) wa® fewrery
\C/ ¥ fermy (D) Svrore vy

78. Reew com® Prea weere ¥ iy
(A) forwy fafom '

L 4]
(C) ot (D) rervfir

79, Wt ot Prondl wivETE FICY STTTES X W00
wrn o oo e S

(A) T wpfiftn
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v 8¢
(© Frwrrons cwoa fog wone® onefs werw we 88
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! SECTION 111
Child Developmens & V'edagogy

English Version

8. Anslow learner attends your clavs and sit .
responsive manner. What will you do ? PR

(A) Make your lenso
extm |m for t:":?'\:y Npie nd apure Some

(B) z?’:l do ?ol like to spoll majority for the
(C) You pressurize the student 1o leave the
(D)  You will not help him/her ot all e

84. Development of an Individusl ¢ d
two omo following four factors. \?:l:h.o? he p:l.t:
Is the most appropriate ?

(D Heredity

(i) Environment
(lii) Language sbility N’
lv) Imagination
A) (i) and (ii)

(D) (i)and (iii
(C) (i) and (iii) ) (andin

(D) (i)and (iv)

85. Which of the following Is » general characteristic
of attention ? \
}g 1t is a faculty or power of mind
ltcu:potbeccamcdlmmdmyobjea for a
ime

(€) m'mmshiﬂmwm
(D) None of the above

86. The nature of child's complete development Is
(A) Psychological
) Physiological
C) Paycho-physiological

87. Writing on the board and drawing pictures are
necessary for a teacher which goes with his :
A) ective skills  (B) homotor skills
C) Cognitive skills (D) All of them

88. Which of the following aspects of a teacher
influence a child's development most ?
EA) Age of teacher
B) Gender of teacher
(C) Academic qualification of teacher
(D) Relationship with the child of a teacher

89. Whichof the foﬂowllllét?hlnﬂtfbtb fs ot found

in 2 mal-adjusted ch
(A) Destructive tendency towards man and nsture

90. °RTE Act-2009" guarantees education for
23:?"! up to the age of 1 yel:?:. Here quality

(A) Useofhi
®) high cost TLM

ing
Relating classroom to the real world
(D) Imposed discipline

U-FAU

Bengall Vervion

8. aod) [facy oy fau® wong pyn cvvm S pm
|\ IO ot weid ond @enear

(A) W HATpe NS "9 Sear qq gey
e wyy rian

(1) wvia o0 2ot 0« merg 0 209 ¢ Toan w

(C) ™A mre wvng grw 32 o @1vae

(D) wovla euw covson we'y oo

B4 oo feerfaby ote betofan o' eS¢ om ™ e VY

Urneing ener Ry com comry™ merwre §
(i) wraefy = i

() e

(i) umb

(lv) wward

M‘)O(“) (B) (1) 9 (i)
(€) (i) 2 (i) (D) () alw)

83, Roy cond worcervn a9 wmores U o
W‘ﬂ'ﬂfﬂ'm
?moaﬂﬂmmnﬂmhm

(C) &% @» favy (w9 wn fens vy vy o
(D) cotaf nlde ay

86. Fot andfre Ramt b am s
(A ] (B) =rurl
o rfge (n,) te'te

87, ANST €W O 4t WiTE wAY qvwn frecey v
eorey, v Rfefes av® wx vy
(A) WrEnws v e von
(C) wnpre vwn (D) Serst »ey

88. Preter cvm Rl Frelly Reree xSy ovfs
Lo K
(A) fretes Ten
(B) freres frx
(©) e covre
frwren e FrenQy weerd
89. avUn

iy wa oo TR ey
e

(A) WHX o *fFreen efs worge Ty
(B)

(e
NGy e o e v

90. ‘Frons wfrers Witz —aced’ 38 Wy oy wey P
v Seefa wrn aw Frens Rt pom w2y €N
froms Sewta s (owTe ¢
(A) TTTem §omaw g OOy

e e T e o e v
(D) F% (oW e
(Costd)
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SECTION—1v s

Eﬂg’h’l Vmbn

105, 7x10000004 2 __
‘IM

106. In AABC, the straight line parallel 1o the side BC
meets ABand AC at the polats Pand Q Trespectively.
AP-QC;&QItnmoMBhuuﬂundlhlnm
of AQ Is 2 units. How many units is the leagth of
cQ? -

(A) 6 unit (B) 4unit
(C) Sunit (D) 3unit

107. Side AB of cyclic quadrilaters! ABCD is produced
to the poiat X. If ZXBC = 82° and ZADB = 47,
fiad the measure of ZBAC.

(A) 25* (®B) 30* (C) 35* () 40

108. Simplify

0.835%0.835x0.835+ 0.165x0,165x0.168

. 0.835x0.835-0.835x0.165+ 0.165x0.165
(A) 067 (B) 0.138

(C) 5.06 (D) None of the previous

) 1 1 1
W s ® 37 © 3 O 3
Accordiang to the given disgram, bow many
e dl:c:tﬂ.p:mmbculnm"adfmmu
toAgra?

Kolkata -*-(:X:D@*-Am

(A) 7 (®B) 12 (C) 8 (D)

. (0.0036)2 .8)
(0.04)(0.1 X0.003)
(A) 8400 (B) 840 (C) 84 (D) 0B84

the followisg sumbers supply the mlissing digit
" :uunshud--ﬂﬂpho" .
304, 573°1, *6708, £36°57.
(A) 9.2,6,7 (B) 2,2,6,7
() 2,9.6,7 (D) 2,2,6,9

< 27-FAU

Mathematics

Bengali Version

9
1 Tx1 —
0s, -ooooowl

(A) 7000000.0009 (B)
(C) 700000.00009
106. AABC-«BCWMMMA!-ACW.
TOFN P e Q e cxw won
AP-QC;ABaMnmmAQamz
%9, CQ-a1 0 9% awy
(A) 6awe \mp)cm
(C) sew (D) 3awe
ABCD WX 5q§twt AB vrw X firy orés ¥¥5 win
T LXBC = 82° €% ZADB = 4T v, ZBAC a1
™Ay e
(A) 25* (B) 30° tq/w (D) 40°
0.835x0.835x 0835+ 0.165x0.165=0.168

700000000009

107.

108. "w»wr 0.835x0.835-0.835x0.165+ 0.165x0.165
(A) o067 (B) 013
© 306 \or e,

e 13-

1 1 )
Wi ®; ©; O;
110. enw B wroR, wereren cerw Wi weren ffon e
otwvT Wy v

m-»(:m‘-m
(A) 7 \BAZ s O

(0.0036)X2 .8)
(0.04)0.1 X0.003)
8400 (B) 840 (C) 84 (D) 084

1. mmmmmm“m-mﬁ
9 wn freren Toe ¢ weatef e
30°4, 5733, 25708, 836°57.

92,67 y 2.2.6,7
:2)) 2,9,6.7 (D) 2.2,6,9

(Contd.)
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Mathematics
English Version
Be ;
91. Highest commoa factor of 361, $21, 811 ks ERR Mrsion
A 7T B 1 (© 19 D 17 L. 361,821 aqt 81l et e o
W 7T WO e m "
92. Arrsogein order of magaitude (decreasing order) 92 Refafes witere Se witwe avapens ov (ey ovce oy
37 §18 148 37 118 148
87341428 87°341° 428
w BSus Ao s 2 [T RN T T
IR TN W G TR
27 118 148 27 13 148
© 3731 Cs (D) None of these (©) 391" 108 ) aefg corafiY ay
9. S-ClndSbo)snndo-;%ollpk«ofworlla 9. "-"N"m'os'“"'t'"'ﬁm-'!
e 3 R rvene w3X; 4 O TN €0 0 8 B4 oo
Jdays; 4 men and 8 boyycando i-’-omlnzdap: 14
In what time can » boy do the whole work ? * } szhm.a;‘mm"
(A) 20days (B) 30dsys WX & VIO T RN
(C) 35 days _ (D) 40danys (A) 20 R 30 Rex
AT Ll .
94, S¥S WA G BVl S VY, AQ C U9t 4 TV ATt
™. Audlcn.ndolpkﬂofworkhSlun:AlldC BQ.C SUTE 3% WU TN TS T A 491 ¥
ia 4 houry; Band C i 34 hours. Ia what time can WY & S A PYTS TN 1
Aslonedolt? \“/ 4 s
4 12— vt B) 1R2=—wi
AW Rubn (B l%m - ® "
g 4 © ngwm (@ 123 v
© 127 hn. (D). 127 hrs.
2 23 9s. mwmm?“u:mm:mmm
9S. Find the greatest and the least sumbers of six digits w1 27, 43, €0, T2 @ !
which are divisible by 27, 4, 60, 72 and 96. ) s D ers 1
(A) 997920,203630 (B) 998920, 201680 (% %
(C) 997920, 103680 (D) 998720, 103680 96. 1“1’!08““«"2%““4“
9%. 7 24
nuaodtbop\fn.,donzp:ccofworlh )y molzﬂmﬂﬂgmlhﬁ
lmndlzuma-doaofthoworllnlday. mn“w“m: >~ BTNt
Ia what time can & man do the work ? (A) 271 FRm ) 28R
(A) 27 days (B) 28 days , .
. 27— fior 2~ R
© Diay (@) W days @ T ® T
5 36 97. ¥
7. Simplity '
32x32428x23-6.4x28 33x33+28:28_S4X20
16x1.6+2.4x24+432%24 ke Olozl.‘
(A) o001 (8) 001 (A) o0.001 ) T
© o1 o 1 © ol )
(Centd.)
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English Version

01l Dl\0l0°.l~..!-00|
Y 0.2402.020031002x002
MY Mmooy (Yol2s )1
= 0.07 x {0.07 « 0.07 + 1)
D (0.07) «(0.07) < (0.07) ~(0.07) =1

(7]

1) ~ (0.07) - 0.07) ~ (0.07 + 1)
(0.07) ~ (0.07)

T 072 () 01 (D) 1
ity

(3-5)3+3) .

g tl)']—iln'll’ln
¢ |- : - =
:)[x 4 (J’J) 3% \2%¢ 3%

14

3 (") 3% ) 3$ (D) 3s

» has $99 bansnas to distribute, if n monkey
atiedst a dozen bananas, how many mon
stcanbefed ?

500 (B) 12 (C) 49 (D) 30

9
0?60."”‘7””-

7900078 (B) 8700.097
780.97 (D) 7800.097
D10 10X 10+

! +3Ix10x10x10=
10x10

43000021 _ (D) 4300021
43000021 (D) 43000.02!

26-FAU

Bengali Version

o.lno.llo.l00.0!:0.0“0.0!

0.2x0.2x0.24+0.02%Q02x0.02

(A) 0512 (D) 0215 YeyD.128 (D))
0.07  {0.07 x 0,07 + 1)

(0.07) x (0.07) x (0.07) = (0.07) =1

9. WM g

99. wWam 9y

((0.07) x (0.07) - 0.07) x (0.07 + 1)
(0.07) = (0.07)
(A) 7 (B) 07 (C) o1 l
100. "™ &%

L) [,
E c](z 4) (s i](’:’%]
(A 1 (B '% k/'g (D) l-:-

101, ™™ &

AL l_(l l)*!l(l,,!),; oL
3's)'s"7(5771)7173 373 "y sy

S

1,13,
174 3

I 12 13 .
A 35 3 © 35 @ 3

102. .wsﬁmmmmwm”

wre| av® T FORY 4Y TWA W exvre |
wAosTY APrTTNTS woe it dvare ot wenefy W Wty

(veyI WYY .
(A) 599 (B) 12 M/" ® 3

7 9
— e s Bx100+ Tx1000=
103. * 100

' 700.097
A) 7900.078
:C)) 78097 7300.097

—-—-*

104. unonoxwrlo*,,,.o

10x10x10
(A) 41000021 (B) :;::::I
430000 21 02
i (Contd.)
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Mathematicy

o (1o aede b bed) ot
w (-
wr (i) i)
© (5-3)[3)G3)

o (3353

114. la division process we have
A) Dividend = ient ¢+ Divisor - Remainder
B) __Dividend = Divisor » Quotient - Remainder
Dividend - Remainder = Divisor = Quotient
D) Dividend - Quotient = Divisor * Remainder
115, Iadivision process we have
A) 0 < Divisor < Remainder
B),0 < Remainder < lent
0 < Remainder < Divisor
D) 0 < Quotient < Divisor
116. Least common multiple of wb%m. 2087 s

A; 1109 = 2087 B) , 399969
2(: 1129067 S41 % 1109 = 2087

N7 Simplity 14 — '_'.,
14—

1+ !

7

1) 1 17 19

T 5 © 373 O 3

. a.”
+

- N ==

~

L
~

-'

4

A%2343x)1x2.3%32

!".u‘?ﬂ’l?!',fll?.’"
o n

11222077 =
131
?I;{ b:J"
120, 2017 and 2027 are two numbers
(A) First nuu.zber is prime and the second is

¢ he
(D) Fin! number is composite and the second is

C mm. bers are componite
) Both thcm::mbcn are prime and they are

mutually prime

- Wea NN X

S

" -

I8-FAU

Bengall Version
PN | T L
" (x':’c](x 3% c'c',)“,-,-‘.
BEAANLANE
A (3 iJJ'i)[I 1)
BEATANELAN
Nt (5ea)(a 35 )
(303
© A\4 2)\2

[1.1)(!,1](!-!
O 3NN
114, o™ nwfire Wy o,
(A) WO = PR ) WOT . STy
(m | =P ¥ BITYN . wrwLTy
SN - YT - BIUP = WY
(D) S - BIMP" = SIM® = BITY
118, ™ *nfive wive N,
(A) O Swore <oy (11) 0§ oy « wives
Dso <wwme([) 0« oven < wwe
116, $41,1109,2087 et Avi@ A%
(AY 1109 = 2087 () _A99969
(C) 1129047 $40 = 1109~ 2087

1. "mes |+ 3

-

1e
[
lo,-
N 13 17 19
A 3 3 © 33 M 5

M LUl 2223433 w3 3¢4dvdde2n])
#2343 m L Indle2nInddedndIniIe
In23wddedndIndd=
(LM 8B (M 91 () 100 121

19, LI=iwi0¢23%23223¢07077 w270
Il in ) in22e3nivd2n1343>32022
AR EPP IR ANRARS RRARRALNRES L
REAEERART LARER SR AL

(A7 111} (m 1
1 ‘”m’(m b 11
130, 2017 &M
newm we® (The ae erd (Ve
‘3} neen oo (Ve avt e (Vihe
sc neyn (Cive
Y) man aﬂna«nwm



121.

123.

124.

125.

126.

127.

() 1c283A (B

129.

SECIHIUN—Y

English Version Environmental Sclewce Bengali Version
2;‘ r::e; conaccted with the wetland of East 121, o worerern werrgfan wee wifi® @8 oo
i R ™
\Xllkl of tbe following are wild animals ? g (.:“ m::“mm -
(A) Sheep,Horse  (B) Horse, Goat e, :gl» o oo

© T“(:;'s“‘k‘ (D) Goat, Cow

Which o eblowh;m n ?
03 memeasy e
(B) Sal, Teak, Oak

(C) Byne, Garan, Ganwea

(D) Mango, Papsya, Sal
The first Education Minister of Indepeadent India

was —
(A) Bhim Rao Ramji Ambedkar
(B) Maulana Abul Kalam Azad

DOT s applied for treatment of which of the

following diseases 7 ~

(A) Cholera (B) Typhoid

(C) Tuberculosis (D) Hepatitis .

Which of the following parts sre connected with

digestive system ofhumsabody? .

(A) Lung Trachea (B) Heart, Artery

(C) Stomsch, Intestine (D) Kidney, Urinry bladder

Match the Column | with that of Columa 11 :
Colums I Colama II

1. Puorulis A. Santragachi Jheel

2. Howrsh B. Sahebbandh

3. Coochbebar C. Rasik Beel

1-B,2-A,3C m

(B) Humerus is '
and Femur from Hip to Knee-

(C) Ulna and Radius are
portion of Knec to Ankle.
Femur is extended from the lower part of Knee

(D)

to Ankle.
Which of the following pair is correctly matched?

Names of the Towas  Names of the Districts
(A) Jhargram, Bishnupur - Burdwan. Birbhum
(B) Dankuni, Kslimpong = North 24 Parganas.

Howrzh
ipur. Raigan) ~ South 24 Parganas,

(C) Baruipur. Raigsn) Onar Dinsipur
(D) Bahmghat, Tamluk = Dajeciing, Jalpaigun

' -~ 29-FAU

123, Rsy comrefn e apfor ey
(A) @, wies, ™

\‘(2;}‘. Oored, 69
q%F, T, (e

(D) =, oot o™

124 mmmﬁvﬂﬁm—

(A) S e W
CRVTH] T YT T

(A) wom (B) TR
~ef P

126, wEvOTEE Rty wor ek RorE (v W YU

w.m (B) avfrs, o
e, W (D) V.|

127. mﬁllmmﬁunmmﬂwm;

R 1 w1

1.7 +fm A, ey fem

2. Te@ B. wowdw

3. cenRTE c. ¥ fm

(AL 1-C.2-B,3-A  (B) 1-A,2C,3-B
1-B.2-A,3C (D) 1-A.2-B,3C

128. Iy R TG o€ 7

(A) £ o g com o & oy ool
FSrearr $1e v w2 e frme cve (Ve
orey feyol

© mommiﬁm’mﬁ«ﬁﬁyn

(D) mmammmﬁp.

129. 2x com oyl B e ¢
were AW corvna iy am

(A) vyrrs, g - etz Py
(B) P=gR. ofvremr: - S91 sfor wagee, iay
a2, qrxea - Vit fer v Jud feetrorea

(D) TS, T - T, oty

(Contd.)
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SECTION—V

English Version

130, Casevas aibdes of which non metallic ¢lements are
preveat la smolkp ?
(A Sadam. Potassium, Iron
(1) Sulphar, Ntrogen, Carbon
(€) Alsmmuan, Copper. Iron \\-
(D) Nkhel Cobah, Mervury

131, Wakh of the following trees grow |a high altitude
mowntain ares ?
(A)  Palash Banyan, Teak
(1) Mango. Jamun, Glaran
(€ Oak, Bk, Rododendron
(D) Garan, Ranyan, (lctal

132. Which one of the following would be formed |f
water vapour sccumulates oa the surface of dus

S’

FﬂKﬁl ? o
(A)  Sear (M) Planet
() Galavy (D Clowd

133 Which of the follow iag animal b found in the forests

of Darjeeling ?
(A} Red Panda M WidAn
(C) Zebes (D) Ohive Rigicy Tyrtle

134 Which of the Pollowing *season’ can be Mihtifled

by the song ‘Darus Agnibane re' ?
(A) Winter m A
(©)  Summer (D) s:::\/

135, Which of the following diseases can be cured by
wslag the estract of *Vasaha'beaf ?
(A) Cholers (M) Tetanus
(C) CoMandcough (D) Malana

136 Which of the following animals sre eritically
eadangered ?

(A) Cow, Goat Ny
(B)  Goat, Sheep

(C) Pig Horse

(D) Tiger, One-homed Rhinoceros -

137. Being o teacher of Cavironmental Studldvw Nich of

the following foods would you suggest (e eat or
driak a1 source of energy In human body to your
students ?
(A) Vegetables, Carrot, Tea, Water
(B) Mk Potsto, Egg. Dutter, Rice
(C) Tea, Jamun, Vegetables, Water
(D) Bect. Turmeric, Tea, Water

138 Which one of the following s nc’pno}bh for
causlng skin cancer T
(A) Melanin (B) Vitamin
(C) Ulrs-Viclet Ry (D) Carbon dionide

3J0-FAU

Enviconmental Sclence

Bengall Versian

130, clinte® (914 (o wnTpe ROy W@y xirw Ni$ 1
(A) OfisTy sflileery Sipaa

/
BT mmes w8 3wy et
(C) aPiasme @i &g

(M Kea (o8 wehy
131, Rrvg (o tinetn G "o wotn wgis 1

(A) *™im & (ng«

() % o raq

/
NI e, AR 0N

(1) wem @& wem

131, yovie emte wicw wly e wow Rog cond 1oy

wm)
(A) #wa n) =
() vy w)’/w:
13), ofairen weon Rong (o w@N o w1y
"3 oy th) 9w ww
() om (1)) wnglsom (=
134, w1 wlears a o core wygo ofisine 1
(A) (h) =
L (1) e
138, e emere Prtre Mg com wgnwg WY BEe 4aeie
oneny
(A) *me
(1) Rl
\«'f " o ofs
(D) wifam
136, Bove (o e wfpnroViowrnice fiom ¢
(A) TP Ninn
() wvwa cop
() _sowe, qorpt
\m/m. AP weyry

137, oftees feens fefowr/fawe fonicg wromie aiaeifove
ot San fiane ROvg (oM ViU cvre ancem ¢
(A) _menfu, «ree o1, om
\qﬂ(gu. wm). fn, ¥rve, wra
(C) o, on menfy ow
(D) 3 e oo

138, Rove (o yeoe owices wan vl ¢
(A) v
() _Nedan

\w(m oot oy

(D) o4 vRany
(Contd )



139,

148,

146,

1‘7.

148,

149,

150.

English, Version

Which of ¢y
bark for tllr‘l ::l:o;::f’ El:.l::: ;onlnlns drugat its

At (B) Cinchona

una D) Toba
140. Which of the 1, i
- Possibilities o:‘c:s"n?::.r:l:';'m.h EEIRRAA
(A) Dog (B) Ant
fan: &C’) Cow (D) Hen
. R teacher of I!uvlronmnul Studles which of the
gl'nl:;:::': would you suggest for the treatment of
(A) ars (B) BRS
142, (\S;Ic;msf S NS |
cmlou; the rollowlag pollutants cauges soll
(A) Cowdung (B)  Skeleton of Fish
(C) Plasic (D) Old Paper
143, (Culerpllhrh
&) Anadultinsect  (B) Larval puage of insect
(C) Anadult mammal (D) An adult bgird
144. Which of the following diseases are assoclated with
alr pollution ?

(A) Malaria, Cholera, Typhoid

(B) Tetanus, Arthritis, Diabetes

(C) Disbetes, Hepatitis,

(D) Bronchitis, Emphysema, Asthma

Arabariis famous for —

(A) Conservation of mansion

(B) Joint conservation system of forest

(C) Conservation of one-homed Rhinoceros

(D) Conservation of tiger

Which of the following plants are source of
materials for making clothes 7

(A) Chatim, Banyan (B) Bael, Mango

(C) Hemp, Jute (D) Chatim, Mango

As » teacher of Environmental Studies you have
shown the following pictures of animals to your
students. Which of them possess feather and scale 7
(A) TigerandToad (B) Toad and Earthworm
(C) Snail and Starfish (D) Pigeon and Shark
Which of the following animal has become extinet

from earth ?

(A) Blackbuck (B) Olive Ridley Turtle
(C) Dodo (D) Lion talled Macaque
Hownnlmmlt:’crlg;;::kd‘? st podecad i
A) R lou sound uc
e b o

(B) Doesnot glisten

(C) Not heated very quickly .

(D) Sound is produced, glistens and hested very

ick!
Wllkl?:f thz following Is (-B‘;‘ omaned from skin ?
(A) Fur alr
(€) Blood (D) Festher

31-FAU

SECT] ON—y
En vlronmemal Science

(C) Nms

142. Bo¥ cvm xre® fvwr vy ¢

(A) omex (B) wmwa #my
oy~ vt (D) oan wive

143, Sexretret o
(A) o opfim orom
\f‘c”’mrﬁ%
)
(D) ¥ wfirs ol
14, WL TYCTH A Revw cvr et ¥y ¢
(A) wmorfim, wormt,  (B) Bgm, weinty

Yoy oy
© s, mmmﬁt avvon,
-
148. oo Ave ot wom—
(A) Ny nerwm
(e w1 nerw wqw
(C) awpr sy wirww
D) W merws
146. o1 wtuefr Ty comtrw Yofin Somvie e
e

(A) _afew, & (B) cm, uw
147, Rite Pfrw)/Frew Rome wefy Frafrfes

(A) ~3m axt yon e (D) LU RULINT
TP 9T Ty LRI T
148, oo e oRY cvrw Moy won onen v
(A) (D) xfirg frym Yn
(D) mE (t=3 wrere
. WIS W1y "I wE W
. (A) foy Nox FGom &, it w00 wrorw v m
(B) svvw v
eryrafy e qn
) vmm':moamm'«n
150, confd srayt owre Seemaw m ¢

M (D) ¢

(D) *me



